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Chapter 7

Reactions in Aqueous Solutions
Sec.  7.1  Predicting Whether a Reaction

                 Will Occur
Reactions are driven by the production of one of the following:

Sec.  7.2  Reactions in Which a Solid

                               Forms

Precipitate reactions are where a

____________________.  The solid is the___________________.

-When writing equations the ____________ of the substances must be ____________.  (s, l, g, aq)

-When dealing with reactions in _________, the identities are mostly ____________ (aq).

-An ionic compound ___________ in water.      This means the ions _____________.  


What _______ do these __________ break into?

    

 K2CrO4           and    
Ba(NO3)2
Overhead

K2CrO4(aq) + Ba(NO3)2(aq) (     ?

A ________ yellow ____________ is formed.  Which of these combined to form the precipitate?

K+  ,   CrO42-  ,   Ba2+  ,   NO3-
These are the possible combinations of ions in the mixture.

Which ones are not likely to be the precipitate?

Which ones may be the precipitate?

Now it needs to be __________ which of these two _____________ is the precipitate.  

Use the solubility rules, pg. 172.  Overhead

Once the precipitate is decided __________ may be written to ____________ the reaction.

Three types of equations can be written:


2)

3)

MOLECULAR:

COMPLETE IONIC:


NET IONIC:

Here’s another one to try.  

Overhead

AgNO3(aq) +  KCl(aq) (
1) Predict the products.

2) What is the possible precipitate?  

3) Write three equations representing this reaction.

MOLECULAR:

COMPLETE IONIC:

NET IONIC:

Sec.  7.4  Acids and Bases

-________ were first associated with the ________ taste of ________ fruits.

-Comes from the Latin word “_______” meaning ________.

-Bases (_________) are ________ tasting and __________ to the touch.  __________
-Svante Arrhenius was the ________ to define ________ and _________.

-Acids are substances that produce _____ ions when ____________ in water.

-__________ acids are compounds that when dissolved in _________ they completely ____________, break into ions.

Ex.  
-_____ molecules of HCl will produce _____ H+ and ______ Cl-
-________ are substances that produce ____ ions when _____________ in water.

Ex.  

-_____________ and __________ are strong electrolytes.

When _____________ strong acids with strong bases _________ is formed.

Molecular Eqn:

NaOH(aq) + HCl(aq) →  

Complete Ionic Eqn:

Net Ionic Eqn:  

-______ important things to _______ when examining  ___________ between strong _______ and strong _________:

1.  The ________________ is always the above net eqn.

2.  The second product is a _____________.

Read through summary of strong acids and bases pg. 182.  (Add three more strong acids:  







)
Classifying Chemical Reactions

Five general types of reactions.


1= 


2= 


3=


4= 


5= 

Will be predicting products.

However, the best way to determine what the products are:

1) Combination Reactions

A.                                        ( compound

B.                                        ( compound

Always have a __________________.

Examples:

1. metal + nonmetal ( ionic compound


   t. metal + nonmetal ( ionic compound

2. nonmetal + nonmetal ( molecular compound

3. nonmetal oxide + water ( acid  

4. metal oxide + water ( metal hydroxide(base)

2) Decomposition Reactions
A. compound ( 

B. compound ( 

C. compound ( 

Usually a _______ or __________ is produced.

There is always a ______________ and most require _____________ to go.

1. H2O(l) ( 

2. mercury (II) oxide (


3) Single Replacement Reactions

-The ___________________must be used in order to determine whether the reaction will take place if the element is a ____________. (handout)

-The activity series is a list of metals:


-___________________ is used the same way as the activity series if the element is a _____________.

A. element + compound ( 

metal (activity series)

  (for single replacement think of water as



H+  and OH-)


Nonmetal
4) Double Replacement Reactions 


One of the following statements is usually true about at least:

1. It is a: 

2. It is a :

3. It is a:

ionic compound + ionic compound ( 

NaOH(aq) + H2SO4(aq) ( 

BaCl2(aq) + K2CO3(aq) ( 

FeS(s) + 2HCl(aq) ( 

5) Combustion Reactions

A. complete combustion: 

B. Incomplete combustion:  

Example:


Write a balanced equation for the complete combustion of benzene  C6H6(l).
